H & 0l & AHS B Ml A

SA M
mu: Mamol NEE 25
Sl XA==MHEe HtEA =ty (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
NIt 1,195,909 1,195,252 657
= 102,010
- 1,093,899
M2l K= BE 856,273 859, 151 N2,878
= 102,010
- 754,263
A=A HEA =2 547,262 532,926 14,336
= 102,010
T 445,252
getst 21 2 AE 2 168,682 164,728 3,954
201 er23 | 168,682 164,728 3,954
01 At2teltl 27,777 26,188 1,589
Odt+=ZH| 21,777
OXIZNDXIA QI 25,327
FHEAN ¥ SEHAMEER) 2XAM
80,0003 *102f A 800
- IHSIHAl DXIA 702 78,0004 5,460
- =0AN XA 70369,0004 4,830
HAM(EXIZ) 2XIA
702%13,00024 910
- THAAI(AE, FE=) DRIA
703 %113,0004 7,910
- SSHAAM(HEE) DKM
70313,5004 945
FAIE2 DTA(SE)
72,0003 %162t A 1,182
Tz DN (ZE)
72,0003 %102 A 720
- MHSO0IH XM (SS)
80&+6,50021+53] 2,600
OABUIDNE SASXI(M)
17,0003 x50 A 850
OXIZAl MBI AL Q124
1,000& 300 300
OLANN 2E8 SFMH 1,300
LS EF 602 +10,0000H 600
ST 702 %10,0000H 700
02 s3=gbl 140,905 138,540 2,365
0Z332= % HMAl 140,905
OEMIRIA LEIREZ
4303 %286, 50024 123,195
OEMINA SII2E8
2,530& 7,000 17,710
NEE2g & 88 151,710 142,380 9,330
201 =3 16,320 15,000 1,320
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Sl XA==MHEe HtEA =ty (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 16,320 15,000 1,320
Ogt+==H| 10,680
OXLNSE =L (CHLH) 2t
8,0002 3005 2,400
OXIZAl XH&ES SE2CHH 7,230
CKIYA KRR TAE RIS
350,000& *62 2,100
NS ANNER CIER ME
2402 *14,5000H 3,480
HOIXIEASAH AR ()2 Xt
1,500& +1, 1002 1,650
OXNZAH ERELE &2 A
50,000& *3IH*72] 1,050
ONZE &2 0M 2,200,000& %12 2,200
o=g=g 1,890
OXZHMao?de 2oFA=g
70,0002 7 H 33 1,470
OSHMEMA 88 Uelel =&
70,0002 x1H+63] 420
OXIZAl =X 1,550
OXlghg #e 7 50,000& *212 1,050
OXZHAR 2 100,000& 6512 500
203 HR=H] 2,700 2,700
03 A=A R =NH] 2,700 2,700
OMEER=N AP RFAY|
3,000, 0002 * 1 +90% 2,700
204 AR A 54,000 54,000
02 S3g =3l 54,000 54,000
SNEEEES TN
100,000 x45F 122 54,000
306 EG= 4,600 3,924 676
01 9= 4,600 3,924 676
Ost=AYMATRE EAHS
4,600,000 *1& 4,600
308 AHXIEMSOIE 74,090 66,676 7,414
18 SIS0t HAS A 74,090 66,676 7,414
OXIMIH XIZHEEAAE 2 - K22
71,064,570 1 71,065
OXIZAl =M &2 88
3,025,000& x13 3,025
HEF=E SEHITA & ME 209,081 208,151 930
= 102,010
- 107,071
101 @124H| 54,264 53,334 930
= 27,132
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Ha: mIANOl NFWH =5
ohel: XETHROl QIEE sty

S A - BRI - NRA - BES of e A
- 27,132
04 JIZtNZ22 XS 2+ 54,264 53,334
OIEF=EIIE ZAIRS 54,264
oJlzs
(78,880 x2H 612! )+(78,880R x 178212
37,784
2 18,892
= 18,802
OFgsg
(78,8802 24+ 132! )+(78,880& x 174 x4 )
7,415
= 3,707
- 3,708
Odxt=<
(78,8302 x2»32 )+(78,8802x17H* 1)
1,815
= 907
- 908
OusS2xH|
(3,000 2612 )+(3,000& x 17212
1,437
2 719
2 718
OUHEE AFBXRES
5,813,000& 14 5,813
= 2,907
- 2,906
201 er2 3| 152,897 152,897
= 73,918
- 78,979
01 At2teltl 149,821 149,821
oget+=ZHI 145,481
(OLNIFSENE=IN| 1,600
SHEAE(MASET)
25,0003 228} A 550
= 275
- 275
EESEAICZSE=IND)
35,0003 #3082 A 1,050
= 525
- 525
OS2+ M= 50,0002 x2)H*43] 400
= 200
- 200
Ods=+& 128,611
HI=2(1.1218) 6,7002%18,800= 125,960
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ool MEWR QEE =3 (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 62,980
T 62,980
- =AI2(6.191F) 8,3702x150= 1,256
= 628
- 628
-012aE 2 OOHAEEE
27,900 »50= 1,39
= 697
- 698
OUISAISSFE A & 8= 5,060
- 8 ChAIICH
(77,0002 %205 )+(22, 0002 *20EH K] ) 1,980
- OHILIE
(132,000 205 )+(22,000& *20EH K| ) 3,080
O&ksael 9,810
- 228 EHFPY
290,000 x5 #2353 2,900
= 1,450
- 1,450
- 226 dl=wH 990,000& %12 990
= 495
- 495
- EHEAS 2RI (0PC-5005) =8 7 e
590,000 x4 =13 2,360
= 1,180
- 1,180
- EHEHEZ2ALIEEIH (0PC-5005) EW P
650,000& *42=%12] 2,600
= 1,300
- 1,300
S EXI(A0) 240,000 43 960
= 480
- 480
ozg=g 2,100
ORSIEASAIRIE 3o 3A+E
70,0002 x6H #53] 2,100
= 1,050
T 1,050
(CF=E 2,240
OS234ll 8,000 x4 »70& 2,240
= 1,120
- 1,120
2 S52g4l 3,076 3.076 0
0=32=  HAl 76
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
OSIAME 2 0194E ZUEX 5195
=3 2,530 «30A 76
= 3
- 38
OAIE2EbBI= X 3,000
O&g&e|Z2 )2 (MapInfo) FAIE==H|
3,000,000& 1= 3,000
= 1,500
T 1,500
202 04t 1,920 1,920 0
= 960
- 960
01 2L AL 1,920 1,920 0
OMEZEEIIH TA
20,0002 x4 H*22 x 12 1,920
= 960
- 960
IR YASHIS| HEE WA 17,789 17,667 122
101 @124H| 4,919 4,797 122
M ORINZZE2NSE S 4,919 4,797 122
OXLASAl AIME ADER0] 4,919
oJlzs 78,8803 x2& 23! 3,629
Oxs=dg 78,8802 x2H 4 632
Odxt=g 78,8803 x2H 1 158
O42E ANEXNRSE S 500
- =S 4,419,000& *4. 5% 199
- AYEE 4,419,000& *3.545% 157
YR 157,000& %12.81% 21
nE28Es 4,419,000 *1.75% 78
MHEE = 4,419,000 * 1% 45
201 er23y| 12,870 12,870
01 AtR2t2|HI 6,420 6,420
Odgt+=H| 5,940
Ogxz 1,430
ZRE & 2LIH 110,000 «5CH 550
Telf 110,000 *2CH 220
CSADI, BHA(SEDI)
165,000 *1CH 165
e 33,0002 #5CH 165
gaXt 11,0002 *30H 330
OoctE #xt 1, 100& #5005 550
OAIMHHZ 652 *10,00021 650
OZEMHSAIHEA 80 %10,0004 800
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SA M
mu: Mamol UEE 25
crel: mate MYl 2 RIgA B4E HD (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
303 Za= 2,755 2,755
01 Za= 2,755 2,755
OMEA F==2&3(FAl) 2,755
OXNHEE MEHs 19X Mg =
100,000,000&*1/100 1,000
ONHEE HELHZ 2%t ML &
36,000,000& *3/100 1,080
OXNHEE HMEHs 3EX My =
13,500,000& *5/100 675
Hgxe gsdet 86,081 86,822 ANT4
101 @12A4H| 51,556 50,59 959
04 JIZtNZ22 XS 2+ 51,555 50,59 959
OXsXEHSE LI QA 51,555
Op==) 78,8802 x3H #1532 36,206
O=s=g 78,8803 38 30 7,100
Odxt=& 78,8802 x3H 7 1,657
OunsEXH| 3,000 %3 » 153 1,817
OAUEE AEXNRES 5,215
- ==z 46,340,000 *4.. 5% 2,086
A 46,340, 000%1+3.545% 1,643
L OIE)| Qo
1,643,0002%12.81% 21
2= 46,340,000& %1.75% 811
MHEEZ 46,340,000 * 1% 464
201 er23| 19,026 21,226 A2,200
01 At2tltl 7,220 7,220 0
Ogt+==H| 7,220
ORSEIXA 60,0003 * 158t A 900
OMEH 222 S M
50,0002 x2JH =23 200
ORSAS0 e M2
300,000& *521 1,500
OSSHUHEE X3 & B =8 3,300
SENHHEE X3 =8
503 +3,000& *2000 K| & 3,000
SENAHEE SE =8
2,000&*1502 300
ONEZE0ES 1,320,000 %14 1,320
02 S3=gl 11,806 14,006 2,200
OAIE2 &= X 10,006
OANEE MYSEHSAAE RXE+
uf 1,740,000& x 1 1,740
OXSEME MEXSHS T NFSUAAl
T NEEN
4,133,000 =241+ 14 8,266
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el dEst Ngae & +=Z M (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
(OFEF=3A= =N 1,800
OADIEE(R SHINER
50,0008 *3CH* 12 1,800
202 04| 12,000 12,000
02 A0 12,000 12,000
OMEANE+2=
200,000& x5« 12& 12,000
303 Za= 3,500 3,000 500
01 Za=2 3,500 3,000 500
ONSIAN =8 ZLa= 3,500
Od==5 uW=¥= 35,000,000&%10/100 3,500
HEM+= S 120,846 120,631 215
201 fer=3| 68,303 71,323 A3,020
01 AtR2t2|H] 13,360 13,850 A490
oggt=ZH] 13,360
OMII==2 10X - HE)
72,0003 %102 A 720
O 20X 703+65,0004 4,550
OSeM ety
702%60,00024 4,200
OMIel=e &X 8 24 3,740
eI 2,640,000& 1= 2,640
Xz Yol ol22(M1E)
1,100,000& 1 1,100
ORSMERS &8
1,000& 1502 150
2 352484l 54,943 57,473 22,530
o332 45,530
O 20X
4302 %40,00024 17,200
OSexeety
4303 60,0004 25,800
oY=l € Ses=
2,530&+1,0004 2,530
OAEEBIS X 9,413
OAM2+=e SR el
7,452,000 14 7,452
O+ ot Ze|AIAE
=l 1,960,200& x1& 1,961
202 04l 12,000 12,000
02 A0 12,000 12,000
ON+=SHE S Yol
200,000 x5 *12& 12,000
303 Zal= 7,000 7,000
01 2= 7,000 7,000




SA M
mu: Mamol UEE 25
Ciel: maE MRl L MM 248 M1 (crol: m2)
M- B SRAEA) - HRAR - B2 A 2
OHMe+=dd =2 AZ(FAL) 7,000
OXHEE HMYHS 189X MgH =
150,000,000& *1/100 1,500
OXHEE HMYHS 28Xt YN =
70,000,000& *3/100 2,100
OXNHEE HMENAS 38X My =
68,000,000 *5/100 3,400
308 AXIHMSOIA 33,543 30,308 3,235
18 SIS0t HAS A 33,543 30,308 3,235
OXAIU KISAA-BEEAAE 22|
33,543,000& 14 33,543
SHI(HS) 339,636 336,101 3,535
2| 220,696 217,161 3,535
Fals] 220,696 217,161 3,535
101 @124H| 220,696 217,161 3,535
01 &2 220,696 217,161 3,535
OAIZRAZR4E 220,696
O6= 12,6313 x35A| 222 * 12 115,787
ora 11,3192 *30A| 2H+8H 122 38,032
O8= 10, 1623 x35A| 28 = 123 34,145
O%= 9,620 *35AI2H+6H <123 24,243
OXMSIH&HI 212,205,000 4% 8,489
=238l 118,940 118,940 0
JI23Hl 118,940 118,940 0
201 et 3| 37,640 37,640 0
01 Al 22| 37,640 37,640 0
CHEER=1] 16,520
ORN2E+aY|
(25,000 +45H =122 )0.8 10,800
OLARE 7Y 5,720
cdliold el El
203,000& x10CH =23 4,060
AT EU 105,000 »2CH*23] 420
-CXNE=AD] EH
20,0002 10423 400
DIEN AT ARE
70,0003 * 122 840
O= gl 21,120
OS2S84l 8,000 x44H 54! x 122 21,120
202 04l 75,600 75,600
01 =LHAHI 75,600 75,600
OJl2geFA0
180,000 «35EH * 12& 75,600
203 =4l 5,700 5,700 0
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HE: HESAAY (HPD)
&l D122 (CH9: &S1)
- ~ q A
SN - BB SR(BIH) - NISAY - BES O] ot e RS2
M A2 5,700 5,700 0
ORANM2ILRFAHI
(400,000 #1284 )+(5,000& *15H 12& ) 5,700
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